Ken and Bobby have a total of £570
Ken and Jill have a total of €1,200

Jill has Y4 times as much money as
Bobby.

How much money does Ken have?
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F ‘ as h bO C k L‘ Year4 Week3 Day4
.,
) Work out 85 + Y4

2) What is 72 multiplied by 5?

Find the product of 5, 8 and 9

Round 4,523 to the nearest ,000
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Le,a.mi,n Objective.:
TO'd,aH [ am Leo.mMg to
- use a writken method of division

- understand what a remainder is

- divide Z—d,igi,t and 3—d.lgl;t numhbers with remainders

K@, Voca,b,u,l,a,

- division
- divisible
= stra,tegLes
- remainder

= q,uo‘t'w,nt
- divisor

- dividend

Success Criteria

| will be successful if [ can
- divide numhbers using the
bus stop method,

- divide numhbers with
rematinders




Which calculation is the odd one out?
Explain your thinking.

64 <+ 8

49 + 6
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Le,a.mt,n,a Ob.:e,ctwe

TO'd,aH a,m, l,e,o.mmg to

- use a writken method of division

- understand what a remainder is

- divide 2-digit and 3-digit numhers with remainders

Key Vor;a,b,u,l,a,gJ Success Criteria

- division - quotient | will be successful if | can

- divisible - divisor - divide numhbers using the

- strategles - dividend bus stop method

- remainder - divide numhbers with
rematinders
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